
Multiply a 2-Digit Number by a 2-Digit Number Name:

Fill in the missing number:

Show your work

Fill in the missing number:

Show your work

Fill in the missing number:

Show your work
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38× 29=342+ 6 =1102

29× 34= ?+870=986

151 116

134 84

25× 12=50+250=?

261 313

235 300

#1

#2

#3



Multiply a 2-Digit Number by a 2-Digit Number Name:

Fill in the missing number:

Show your work

Fill in the missing number:

Show your work

Fill in the missing number:

Show your work
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23× 35=115+ 90=805

43× 19=387+ 3 =817

42× 15=210+420=6 0

#4

#5

#6



Multiply a 2-Digit Number by a 2-Digit Number Name:

Fill in the missing number:

Show your work

Fill in the missing number:

Show your work

Fill in the missing number:

Show your work
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49× 44=196+?=2156

1520 1960

2329 2011

23× 17=161+?=391

229 283

183 230

29× 38=232+?=1102

710 882

870 842

#7

#8

#9



Multiply a 2-Digit Number by a 2-Digit Number Name:

Fill in the missing number:

Show your work

Fill in the missing number:

Show your work

Fill in the missing number:

Show your work
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26× 43= ?+1040=1118

55 78

101 74

27× 15=135+270=?

313 341

308 405

37× 27=259+ 0=999

#10

#11

#12



Multiply a 2-Digit Number by a 2-Digit Number Answer Key

Question Answer

#1 0, 7

#2 116

#3 300

#4 6

#5 0, 4

#6 3

#7 1960

#8 230

#9 870

#10 78

#11 405

#12 4, 7
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